GRAND + BENEDICTS

ASSEMBLY
INSTRUCTIONS

4' WRAP COUNTER :: 260 - EC - WC4

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com

PAGE 1 OF 5




4' WRAP COUNTER :: 260 - EC - WC4

GRAND + BENEDICTS

PART LIST:

ot *

1X.SIDE PANEL-R 1X.DIVIDER PANEL

2X. KICK PANEL 1X.BACK PANEL 1X.SIDE PANEL-L

1X.BOTTOM PANEL

o<

1X.TOP PANEL 3X. SHELF 34X. WOOD DOWEL PIN
M8X30

54X. CAM LOCK 12X.SHELF PIN 32X.PVC STICKER

PAGE 2 OF 5

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com




GRAND + BENEDICTS

4" WRAP COUNTER :: 260 - EC - WC4

STEP 1:

BOTTOM PANEL

KICK PANEL

WOOD DOWEL PIN M8X30

CAM LOCK

STEP 2:

CAM LOCK

PVC STICKER

DIVIDER PANEL

WOOD DOWEL PIN M8X30

BACK PANEL

GRAND + BENEDICTS  503.232.1988 | grand-benedicts.com

PAGE 3 OF 5




GRAND + BENEDICTS 4' WRAP COUNTER :: 260 - EC - WC4

STEP 3:

SIDE PANEL-L

TOP PANEL
PVC STICKER

WOOD DOWEL PIN M8X30
CAM LOCK

SIDE PANEL-R—— /

GRAND + BENEDICTS

503.232.1988 | grand-benedicts.com PAGE 4 OF 5




GRAND + BENEDICTS

4' WRAP COUNTER :: 260 - EC - WC4

STEP 4:

SHELF PIN

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com

PAGE 5 OF 5






